THIS DRAWING IS UNPUBLISHED.

RELEASED FOR PUBLICATION = |

(©)_COPYRIGHT copyrigat gate BY -

RLL RIGATS RESERVED |

19
(INSULATOR)
18.5

(BOLSTER PLATE)

REF

10.175
[=]

119.5 +0.5

| —PIN 1 MARKING

109
(INSULATOR)

Q3AONBY 1 ¥OSS300¥d
WA QNV 3AVS

AHPREY R HEAH LY M3 THREAD
I]i? 6-LOBE DRIVE

108.5
(BOLSTER PLATE)

[95] (2
|

4 THREAD
2X)

ol

DATE CODE—]

S

NOTES:
1. _MATERIAL:
(1)BOLSTER LARGE GUIDE POST: STAINLESS STEEL
(2)BOLSTER SMALL GUIDE POST: STAINLESS STEEL
(3) SKT-P-KNL,SPRING RIVET: STAINLESS STEEL
(«)SKX BOLSTER CORNER STANDOFF: STAINLESS STEEL
(5) SKX NRW NON FABRIC BOLSTER INSULATOR:
-POLYCARBONATE FILM PLUS ACRYLIC ADHESIVE LAYER
(e) SKX NRW NON FABRIC BOLSTER PLATE: STAINLESS STEEL
(7) SKX-EP NRW SPRING: STAINLESS STEEL
(8) SOCKET P M3 BOLSTER CAPTIVE NUT: CARBON STEEL, NICKEL PLATING
(9) SOCKET P M3 BOLSTER CAPTIVE NUT COLLAR: CARBON STEEL, NICKEL PLATING
(9 SKT-EP SPRING STUD: STAINLESS STEEL
(W KNL BOLSTER LEC GUIDE PIN: STAINLESS STEEL
(@ NRW DUST COVER: THERMO-PLASTIC, UL94V-0, BLACK
. ASSEMBLED WITH BOLSTER ASSEMBLY P/N: 2299805 SERIES
INDICATED DATE CODE ON THE BOLSTER PLATE
NUT ASSEMBLY SEQUENCE FOR 6 CYCLES:
ASSEMBLE (1) AND THE REMAINING NUTS IN ANY ORDER.
DISSASSEMBLE IN REVERSE ORDER OF ASSEMBLE

PIN:
(NRW FABRIC TYPE WITH COVER)

2310924-1 AS SHOW

REVISIONS

PlLTR‘

DESCRIPTION

‘ DATE ‘ o ‘ RPVD

[ %]

REVISED

loireB18] J.W] 5.1

1 NRW DUST COVER 12
2 KNL BOLSTER LEC GUIDE PIN 11
2 SKT-EP SPRING STUD 10
3 SOCKET P M3 BOLSTER CAPTIVE NUT COLLAR 9
1 SOCKET P M3 BOLSTER CAPTIVE NUT 8
2 SKX-EP NRW SPRING 1
1 SKX NRW FABRIC BOLSTER PLATE 6
1 SKX NRW NON FABRIC BOLSTER INSULATOR 5
2 SKX BOLSTER CORNER STANDOFF 4
] SKT-P-KNL, SPRING RIVET 3
1 KNL BOLSTER SMALL GUIDE POST 2
1 KNL BOLSTER LARGE GUIDE POST 1
Ty DESCRIPTION ITEM
THIS DRANING IS A CONTROLLED DOCUMENT. |°W! T-Nov-2016
CHJKEFF WAN’II.Nov.sz -=TE TE Connectivity
DIMENSIONS TOLERANCES UNLESS. APVIM N I
OTHERWISE SPECIFIED. D =Nov- NAME
mm REL_W AN
o pLC 103 PRODUCT SPEC _
@ [ 108115115 SKX-EP NRW FABRIC BOLSTER PLATE ASSY|
C 3 PLC 0.3 APPLICATION SPEC
ANP‘LE 0.3 a 11%-11501 S1ZE | CAGE CODE |DRAWING NO RESTRICTED 10|
WATERTAL FINISH WETGHT A 2 _ @‘32310925 -
. - CUSTOMER DRAW ING [ a7 12 A2

1471-9 (3/13)

Downloaded From | Oneyac.com



https://www.oneyac.com

4 3 2 ‘ 1
THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION I REVISIONS
(©)_COPYRIGHT conyrighl date BY - ALL RIGHTS RESERVED | Pl TR ‘ DESCRIPTION ‘ DATE ‘ N ‘ RPVD
[ - T stk sweet - T T
19
(INSULATOR)
18.5
(BOLSTER PLATE)
R | —PIN 1 MARKING
o b
o i (]
Ny THREAD |
(2%) \
(l (¢} | (¢)
i _ = —M3 THREAD |
3 g == T-20 6-LOBE DRIVE |
N L ] (7
o 2= 8= = B -t T
e S |
= & xMa THREAD !
S (2X)
( o | )
\
[j:___/"' | ""\___::
910{: )) Hosas4-004 g‘
‘ 21.68 . ‘
/ (2%
owre Gape—r] AND)
(2X)
2 KNL BOLSTER LEC GUIDE PIN "
2 SKT-EP SPRING STUD 10
NOTES: P/N: 2310924-3 AS SHOW 3 SOCKET P M3 BOLSTER CAPTIVE NUT COLLAR 9
1. _MATERIAL: (NRW FABRIC TYPE WITHOUT COVER) 1 SOCKET P M3 BOLSTER CAPTIVE NUT 8
gng}Es I§ARGE gu:g% Egg}; g}AINngg g}EEL 2 SKX-EP NRW SPRING 1
L MALL GU - STAINL L
() SKT-P-KNL, SPRING RIVET: STAINLESS STEEL ! SKX_NRW FABRIC BOLSTER PLATE §
(0 SKX BOLSTER CORNER STANDOFF: STAINLESS STEEL I SKX NRW NON FABRIC BOLSTER INSULATOR 5
st ot o '
(&) SKX NRW NON FABRIC BOLSTER PLATE: STAINLESS STEEL ' SKIT-P-KNL, SPRING RIVET 3
(1) SKX-EP NRW SPRING: STAINLESS STEEL | KNL BOLSTER SMALL GUIDE POST 2
(8) SOCKET P M3 BOLSTER CAPTIVE NUT: CARBON STEEL, NICKEL PLATING ] KNL BOLSTER LARGE GUIDE POST ]
(9) SOCKET P M3 BOLSTER CAPTIVE NUT COLLAR: CARBON STEEL, NICKEL PLATING oTr ToEscRIPTION T
(W) SKT-EP SPRING STUD: STAINLESS STEEL

(D KNL BOLSTER LEC GUIDE PIN: STAINLESS STEEL
. ASSEMBLED WITH BOLSTER ASSEMBLY P/N: 2299805 SERIES

INDICATED DATE CODE ON THE BOLSTER PLATE

NUT ASSEMBLY SEQUENCE FOR 6 CYCLES:
ASSEMBLE (1) AND THE REMAINING NUTS IN ANY ORDER.
DISSASSEMBLE [N REVERSE ORDER OF ASSEMBLE

THIS DRAWING 1S A CONTROLLED DOCUMENT

DIMENSIONS
mm

S
0.3

0.3

: 2 PLC 0.3

3 PLC 0.3

0.3

1§-N_- T
G FE WAN ov-2076
CHK - -
Simon L1

APVD 14 -Nov-2016
| COREL WANG |

PRODUCT SPEC

108-115115

APPLICATION SPEC

=TE

TE Connectivity

NANE

SKX-EP NRW FABRIC BOLSTER PLATE ASSY|

114-115011

WATERTAL

WELGHT

SIZE

A2

CAGE CODE

- (C=231092u

DRAWING NO

RESTRICTED 10

CUSTOMER DRAW ING

ISCALE

11]

SHEET

Zor 2 ‘REVAZ

1471-9 (3/13

Downloaded From | Oneyac.com



https://www.oneyac.com

B NE AR EN, AT, SRR A ISR E B

Downloaded From | Oneyac.com


https://www.oneyac.com/brand/1062.html
https://www.oneyac.com

	>>TE Connectivity(泰科)

